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- Describe as full : iving cli e s i ;
an § as tully as you can, giving climate, products, population, etc.
Y one of the following:—Belgium; Turkey in Asia; India; Russia. ' '

Write short notes on the following:—Glacier; Dew; Tides; Longitude;
Ircle; Trade Winds; Zones.

8.
Arctic ¢

anq 51)\[ Draw a map of the Bay of Fundy, locating the counties of Nova Scotia
eW Brunswick bordering upon it.

of Calr?' Write a note oa (a) the railways of Canada, and on (b) the ocean ports
ang ¢y g 80 as to indicate what you have learned of the present time commerce
ade of Canada.

MATHEMATICS.--VIII.

9.00 to 11.00 a. m., Friday, 30 June, 1916.
L Divide 987654321 by 860432, (Answer of no value if not correct).

2, . . . .
f‘)ll()win \Vhld} is the greatest, which the least, and what is the sum of the
& lractions: {1,381, 4, }

12
3, Qi 27 .
‘ Slmphty T X 6.5. Express the answer as a decimal and as a
ulgar fra(‘.li()n. 1{*‘125

A meter is 39.37 inches. How many kilometers in 10 miles?

5

a 2 A deal , 10 ) - . ake

Profi¢ rer buys goods for 171 Y% less than he sells the goods for; He makes
of $178.35. What was the cost of goods?

6.
Aprij 9tlfmd the simple intcrest on $7300 at 5%, from January 28th, 1916, to
' » both days inclusive.

7.
iytard‘ T‘}\l walk ig 7 rods long and 8 feet wide. Gravel is worth 75 cents a (:ub_ic
Cost 1 & gravel is laid on the walk 1o a depth of 9 inches. How much will
) cover the walk?

A
i‘nalue in “té‘at Is the value of £132 sterling in Canadian money? What the
Canadia,,”l')“gilof A1322 What is } of £928 7s 4d>  What is 6 tiines £4. 3s. 7d.
Oollars:

9
l‘;?“ it taketd-?, do a piece of work in § days, B in 9 days, C in 7 days. How long
Ust e t then, all working together fo do % of the piece of work.  (Answer
€ exact fraction of a day).

E"allllg'te.when a=2; p=3,
" (@) 4(b—a) (a3 430)—2(365° —a") +2(a2+20%)

&) V8T 4 70T g9 T




